VIHAHOSAL
"120% - 810%
qAA VIVALY VA

TYNOIDLILENOD
OLNATAVINOAYH—

VH340S3L

VIOYVYO SFOUVO VIISIHYIN 'O

!

VI
VINNGEOTH
160% - 8108
"HHA ‘VINVATY VTTIA

MHOADAHILSNOD
ZANILYVINOZEND NGO ASTME] O

IVdIOINNN VINAdISTNd
SYHIYLINOD NOWVY Y13SID <§ﬂmmﬁﬁm

WAA YRVATY YTHA
TYHGIOQIILENOD
OLHEINVINOQAY 'H

\\\\\& 1507 - 810%

MW'ZLL'889°€5% 80'S6¥'v92°1$ 80's67'v52'1$ 67'292'¢v6'vES 69'629'6£1%$ 08'2£9°€08'VE$
- - - - - - ) saudded|onied
- - - - - - b moco_um__nzw.» mw:o_mcwm—
3 S o = 00'000°00€-$ 00'000°00€$ sonised ap uglanuIwsIp A epnap e| dp ugidEZIOWY|
96'99G'266'01.$ 20'022'02% 20'02.2°0Z$ 00'2€8°CLO'LLS §G'820°08L°L-$ §6'698'261'2L$ [ejideD ap ojsen

$'G02'969'22$ 90'622 ¥’ 1$ 90'62Z'veT 1L $ 6V'0E 0E6'E2$ #2'859'619°L$ §2'2LL0LE'228 9judliIo) ojsen)

(r-€)=9 g 14 (z+1)=¢ 4 }
opjoIsfaqns opebed opeBuanaq opesIPoA / mm:m_um_mn—m< opeqoldy ojdasuon
sosalifg

81L0Z 9P Ozieul ap |& |8 0JaU3 3 | [9p

(oysen op odi ], 1od) eojwouoog ugIoedljise|d

sosa1bhz op oysandnsald [9p 0191913[37 |ap 021)]jeuy ope)ss

“19/\ ‘BWEP|Y B|[IA Bp OjualweunAy ‘H




